C2/3 - Session 1
Parent information on bar modelling
https://www.youtube.com/watch?v=I6Ipio8JntU
https://www.youtube.com/watch?v=PEAoJUYELtk
https://www.youtube.com/watch?v=i7LAHc1qvig

Before you begin, practise your times tables using Time Table Rockstars for 20 minutes

[image: ][image: Usman Iqbal]	Comment by Usman Iqbal: Do you remember what operation you need to use to calculate the change?

What do you think the first step in solving this problem is?

What would you do next?

Follow the 'Let's Learn' as it guides you to solving the problem.
[image: ][image: Usman Iqbal]	Comment by Usman Iqbal: What do the green and orange bars represent?

What does the blue bar show?



[image: ][image: Usman Iqbal]	Comment by Usman Iqbal: RUCSAC method for problem solving


Your activity - 
Write your answers below

[image: ]	Comment by Usman Iqbal: Read the questions carefully.
Identify the key information.
Break the question up into smaller parts.
Make sure to answer the actual question.
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Extension
Explain how you solved your answer

Answers
1)

2)

3a)

b)

Extension
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Solving Word Problems L.?:on

Ellott bought both shirts
with a fifty-pound note.

How much change did he get?
Let's Learn
@ 4dd£20and s0p and €27 and 90p.
£50
N
—— ——— .
£20and 50p £27 and 90p ?

Add the £: £20 + £27 = £47
Add the p: 50p +90p = £1 and 40p

£20 and 50p + £27 and 90p = £48 and 40p

The cost of the two shirts Is £48 and 40p.

Subtract £48 and 40p from £50.

£50
£50-£48and 40p=£land60p |/ \§Q DT

Elliott got £1 and 60p change. et
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€@ Lt bought a box of chocolates for £4 and 5p and
a boxof cookiesfor £5 and 30p.
She had £15 left.

(@ How much did she spend altogether?
(b) How much did sha hava to bagin with?

2

@ Etond5p E£5and 30p

h.0nd 5p + €5 and 30p = [N
She spent [N ttogetrer:

® ?

-

She had [/ ] to bagin with.
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Read - Read the question carefully. Read it twice if needed and pick
out any important information.

Understand - Do you understand the question? What are you trying to
find out?

Choose - Choose a method you will use to solve the question. What
sums do you need to perform?

Solve - Perform your calculations and come to your solution.

Answer - Answer your question. Does this answer fit what you were
trying to find out?

Check - Always check your work. Use the inverse to check your
working out.
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Worksheet 14

Solving Word Problems
Solve.

Afishing rod costs £34 and 30p.
Sam pald for It with a £50 note.
How much change did Sam get?

£34 and 30p

£50

O

Samgot change.

@ Honah bought a handbag for £25 and 50p.
She gave the cashier two £20 notes.
How much change did she get?
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o Amira bought a pair of shoes and a skirt.
The pair of shoes cost £45 and 10p and the skirt cost £25.
After buying the ttems, she had £24 and 90p laft.

(@) How much did the two items cost?

(b) How much did Amira have to begin with?




